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24.

The number of triangles in the figure is -

P

(A) 23 f’é%‘%‘;
®) 27 L
() 28

(D) 29

\
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In a lunch party, both Potato and Tomato were
served. Some took only Potato and some took
only Tomato. There were some non-vegetarians
who did not take either. The rest took both
Potato and Tomato.

Which one of the following logic diagrams
correctly reflects the above situation ?
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| ((//) following three distinct positions of the same
die ? L i o
Y / 6 } @
I 4
1 9

What numbers occur at bottom face in the

A) 4, 4,6 55 5.4,
oo ©) 6,4,4
(©) 6, 4,4
D) 444
©) 4,4,4 : D,

26. 9 R gu w7 #§ ufer spfoat & | Bl

The following problem consists of five figures.

26.
The first of which is unnumbered and placed in o g0 si-@;;n qgal 31'@&[ J IR Bl 8,
the beginning of the series which is continued 4 ﬁrl'H w 'él'ﬁ':f 3:'35 m qé’f % ger 3=
?
i i d from 1 to 4. it ——  fel, .
in the successive figures numbered from 1 to W HE 1 ﬁ 4 37 2 % |
However, the series will be established only i
T 97 @ g anft afe el
if the positions of two numbered figures are ] e atﬁ s ¢ , ?Ilﬁ
interchanged. The number of the earlier of the a W@f?ﬁﬁ Eﬁ RASS IS (S| ﬁq[ Gﬂa |
two figures is the answer. @ Faﬁmﬁaﬁﬁﬁqﬁm@wﬁ
FREE @ SifeRa s @ IR R |
PR e
o + A + O
* Q = O A (] AlA O] o + | A Ol + le)
1 2 3 4 + O (| o) A
Ch t sl R
oose the correct option : g8l fawoy T T Y -
(A) 1
A) 1
(B) 2
(B) 2
© 3
© 3
(D) 4
et (D) 4
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28.

29. 7

30.

3 married sons and one unmarried daughter.
Of the sons, two have 2 daughters each, and
one has a son. How many female members are
there in the family ?
(A) 2
©) 6

(B) 3
D) 9

Yogesh started walking towards East. 27.
After moving a distance of 2 km, he turned
Southward and walked 5 km. Again he turned
to East and walked 1 km. Finally he turned to
the North and walked 9 km. How far is he from
his starting point ?
(A) 3km (B) 4km
(C) 5km (D) 7km
If:_s means ‘+9’ c+9 means c_’:_,, ‘X, means ¢« and 28'
‘+’ means ‘X’, then what will be the value of
24-16+8x6+2+37
- (A)17. 4, .(B) 10 :
- E- ]
g ¥ WET
© — ©) 19 S
r 2 -
If A + B'means A is the son of B,A—Bmeans 29
A is the wife of B, A x B means A is the brother
of B. What does P+ R —Q mean ?
(A) Q is the father of P
(B) Qs thesonof P
(C) Q s the mother of P
(D) Q is the brother of P
In a joint family, there are father; mother, 30,
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o omectly 31 e & SR-an w g gARE § 7
31." Which one of the following pairs
matched ? v (A) 1853 <hT R - wd I S
(A) 1853 Act - Provincial autonomy (B) 1861 1 AT — R SHEEN
(B) 1861 Act — Portfolio system (C) 1919 %1 AP - g TR T &Y
(C) 1919 Act — Dyarchy at the centre B EIS]
(D) 1935 Act — Bicameralism (D) 1935%<hT Al - iaﬂaqkﬂﬁ S2EESd]
32. Indian Government has adopted which 32. TR & % AHEH TE UcHS 8t &
three food based safety nets for solution of T % T wRa TR TR -9 &
quantitative and qualitative aspects of Food
Security ? Qe AT Gl e 9IS 7Y § 7
i. Public Distribution System i WS foreor oy
ii. Food Corporation of India ii. W @ fem
iii. Integrated Child Development Services ifi, THTRd wTet forehmy W
iv. Mid-day Meals Programme Tiv. QUE WIS FRiET
(A) (), (ii) and (iii) (A) (@), (i) 3 (iii)
®) (@), (i) and (iv) ®) (), Gii) 3 Giv)
(C) (i), (iii) and (iv) (C) (), (iii) 3R (iv)
(D) (ii), (iii) and (iv) (D) (i), Giif) 3T (iv)
33.  Choose the correct combination of G. G-20 <M < i :
countries. i | 2 =" i hbl A ﬂﬁ |
(A) India, America, China, Pakistap (A) WA, Hafen , SN, arfreT
(B) South Africa, India, Turkey, Nepal (B) T IThT 5, e
(C) European Union, Japan, Mexico, s e
Bangladesh > «-%@-25 (©) T i, S, Afdent, w5
: : U R . RASARIPIL LS 1
(D) India, Indonesia, Japan, Mexico (D) YRd, @ﬁm .
34. When and where was ‘The Te Princi ‘3 @ b
Arya Samaj’ propounded 7 e P Of = EIGENET ﬁ:?#é) ?@a P
(A) Mumbai, 1877 (A) T, 1877 |
(B) Lahore, 1877 (B) a—@-(, 1877
(C) Calcutta, 1872 ©) F, 187,
(D) Madras, 1870 (D) W5, 187
____./_—_\
B




Which of the following pair is not correctly

35.
matched ?
(A) Executive powers of — Article53
the President
(B) Post of Comptroller - Article 148
and Auditor General
(C) Definition of Money - Article 110
Bill
(D) Appointment of — Article 213
Governor
36. Match‘th'e”List _ I with List — IT and choose
the correct answer using code given below the
lists. . ‘ N
List—1I List—1I
a. Meteorology 1. ‘Soil Geography
b. Pedology ~ 2. Climatology
c. Hydrology " 3. Geomorphology
d. Geolb"éy " 4. Oceanography
Code :
a b c d
A 1 2 3 4
(B) 2 1 4 3
© 3 1 2 4
o 4 2,3 1
37.  Which one of the following is a utility
software ? e S TR
(A) Worf_i P{gcesigr (T LGRS
(B) Anti-virus~ '
(C) Desktop publishing tool
(D) Compiler
38 “Navratna’ Council is associated with
(A) Ballala Sena
(B) Harshavardhana
©) Chandragupta —II
(D) Devapala
. Lo
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39, Which of the following operatn Y%/

open source ?

(A) MS-DOS

(B) Windows

(C) Linux

(D) i0S

i ime
40.  Who among the following became t'he Pri
Minister of India without being earlier the
Chief Minister of a State ?

1. Morarji Desai -

2. Chaudhary Charan Singh
3. Chandra Shekhar

4. H.D. Devegowda

3. Manmohan Singh

Select the correct answer from the codeg
given below.

Codes:
(A) 1,2and4
(B) 3,4and5
(©) 1,3 and5
(D) 3ands

41 Generally the co

(A) Troposphere Stratee!
» atog e
mosphere T M°S°Sphere,

(B) Stratosphere,

esosph
Thermosphere Phere

© ThermOSphere

y 1TQ
Stratosphere " "Phee, Mesosphe,
(D) Troposphey,
Stratospher, Sphere

40.

41.

-
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Pt if & -an 512 A
T A 6 ¢ 7

(A) Trug-zig
(B) e

(©) T
(D) 33ty

ﬁlﬂiﬁiﬁm%g@dﬁaﬁﬁmzﬁm
%Wﬁnﬁﬁaﬁwﬁ?

1. AR

2. el = g

3. 9 IR

4. 3. . Wi
RARARLE o R T T ——
%

(A) 1,231Rk4

(B) 3,43fK5
(©) 1,335

(D) 33 5

AT T R Tt g S %
AYAUSH Tl T R

(A) EIAUSH, GHTITSS, evEH,
' e

(B) THATIHUSH, HEMUSH, &HUSH,
IRBLES

(C) TTIHUEH, FUSH, HEAUS,
HATIHUSH

(D) ENYVSH, AIHVSS, HEAHVEH,
YHATIHUS A
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42. Which of the following statements regarding 42. e

= - FUA TE T ®?
the NITI Aayog is incorrect ? " Eﬂ%‘[ A TR gﬁwﬁa %ﬁl % |
(A) Tthas replaced the Planning Commission. (B) T T o HEd GETEA] & G
|
(B) Itallocates resources among the States. © ;@T; B I ¥ =7 1 w7 T |
(C) Itwill function as a ‘think tank’. (D) T T &R 1 AT B
(D) It will encourage village level planniné. .|
43. Which of the following statement(s) is/are 43, WA SAUM <hl TEqTEHT ﬁ T
incorrect regarding the socialist’ principles ) g & ey o IR=g 3
enshrined in the Preamble to the Constitution HHE-T0 /ﬁ SYF A %/% ?
of India ? - 2
1. Wealth should be shared equally. Elam .
2. Government should control land and %% 2 ‘i&l il o El |
industry, 3. -3 aremaT w5
3. Reducing socio-economic disparities. WUT |
T4 Equ'éll"dpportunity for all. i 4. oft % ﬁfrq JATE 6} T |
Choose the correct answer from the code ‘-ﬁ% ﬁ\r& Tr& @ ﬁ -é -g—&r-} I —Eﬁ ‘
given below : ' %z
Code :
- (A
(A) 1and?2 A 13
(B) 1,2 and 3 ®) 1,233
(C) 1,2,3and 4 ©) 12,3304
D) 4 onl
(D) y ifie (D) éﬁa 4
4. In 2022-23, which'sector made the maximum 44 200 !
© 2. A
contribution to India’s Gross Domestic %3 i WRE % 9 81'61\
Product ? H ?frqm Ha% o ?

(A) Primary sector
(B) Secondary sector
(C) Tertiary sector

©) T g,
(D) Construction sector




45,

46.

47.

] fements -
Consider the following sta o_40° North

‘ in20
1. Highest salinity 1S found1n

latitude. . d
: rature an
2. In these regions with ylgh tempe

evaporation, humidity rem
i ct ?
tatement(s) is/are corre

ains low.

Which of the above s
(A) Onlyl

(B) Only2

(C) Both 1and2

(D) Both statements are incorrect

“‘Make in India’ Programme is based on which 46.

pillars ?
i. New processes
ii. New infrastructure %
1ii. New investment &=
iv. New sectors
(A) (), (ii) and (iij)
(B) (@), (ii) and (iv)
(©) (), (iii) and (iv)
(D) (i), (iii) and (iv)

In India which of the follow'

45.

ST Fe A A B/ w 2%

(A) e 1

(B) sheet 2
(©) 13K 23N}
(D) NI o wdt 7 &

TR o i wriEn Re wi @
YT g ?

i, ¢ Wishamd

ii. T IR T
ifi. 1 e

iv. T g3
(A) (), (i) 3K (i)
B) (i), (ii) 3T (iv)
©) (), (i) 3R (iv)
(D) (i), (iii) 3R (iv)

not used for calculating e ng Concepy i 47. WRA ¥ SO 51 A A % for o

(A) Usual statyg ey e'ntyrnent? ST 1 ILNT T opa wman & 7

(B) Weekly staty unemm"yrnen (A) g feufy stieemd

(C) Daily statys unempl(’yment t ® T | N S

i "“e’“ploymem © e feuf sl
\ (D) aTi¥e Rt sisem s

‘14-
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48. Match List — I with List I Choose the 48, Tt -1 G - 1 FAfm Hifn |
correct answer from the code given below. = 2 T HI8 ¥ Tdl W gﬁ'fq ]
List—1 List—II ga-1 gt - 11
a. World Environment 1. 26" November a. ﬁ‘ﬂm 1. 26 99w
: o feam
Protection Day
s e Y
b. National Youth Day 2. 12" January g}.%% b. TS I 2. 1259
A= T
c. International 3. 12" August c. JTAISH Fa 3. 123
Youth Day e ;
rd d g dm waEar 4. 3ws
d. World Press 4. 3™ May 5
Freedom Day
a b c d a b c d
@a 4 3 2 1 A 4 3 2 1
® 2 3 1 4 ® 2 3 1 4
<o 1 2 3 4 _© 1 ) 3 4
® 4 1 2 3 ® 4 1 o s
49. Which device allows you to enter data and 49. BH-TI %EHE'H S5 F 37 .
instruction into a computer ? I aa-[lg .
(A) Input device " 3 3
(A) $19e Teamgm
Output device
(B) Output devi -
(©) ALU ©1
(D) CPU O)
50. The Allahabad Pillar Inscription is associated 50 . ; 27
with which one of the following ? S i St frer 3 & e 99
(A) Mahapadma Nanda (A) WRTIGH g
(B) Chandragupta Maurya (B) s W
(C) Ashoka (C) I+
(D) Samudragupta (D) ST
. /
-15- B
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52.

ts one labelled 51.

Given below are two statemen

as
as Assertion (A) and the other labelled
Reason (R).

Answer by using the codes given below:

Assertion (A) : Union Ministers can be

dismissed by the Prime Minister.

Reason (R) : A Union Minister is appointed
by the President only on the advice of the

Prime Minister.
Codes :
(A) Both (A) and (R) are true and (R) is the

correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not a

correct explanation of (A)

: . ot
(C) (A)is true, but (R) is false %
(D) (A) s false, but (R) is true

Consider the following statements :‘

1. Duetothe retreating of sea, landmass drieg
up and becomes plain,

2. Indian plain of Kachchh is formed in the
same process,

Which of the above Statement is/are correct 9

(A) Only 1
(B) Only2
(C) Both I and 2

(D) Both statements | and

2 are incorrect

52.

84/23 E;i

A & e fog e R 1w H wE (o)

AT G 1 HRU (R) g1 TR |

% <l gEEar § IT T |

T (A) : Fraid T T g Satw

e w1 wha § |

HOT(R) : o T TR ey

I SaEE 6 T WA A R

%c:

(&) (&) 3 @) A 7@ & 3 ®), @
& TS B

(B) (A)3 (R) S W& T, Tg (R), (A)H
T TS TE B

(©) (A)TE 7, g (R) T4 &

B S e L s

Yo S SCTR SIS W

(D) (A)TIeTd 8, T (R) TEl 2

P sreri o freme AR -

1. PR & fada a1 98 ger | T l\l
@ T UH 7 I & | j

2. WIRA 1 e e 3t wiean § i
21

ST H Y H-| o R/7 7
(A) F9 1

(B) e 2

(C) 13k 23ni

D) 12 TR e s
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53. Match List — I with List — IT and select the 53 g -1 gl - 18 Ao i ain

correct answer by using code given below the q\%l’éfl co H= feu g FHe T T I T
lists. X 'gﬁﬂ .
List—1I List—II Tt -1 T - 11
a. First Schedule 1. Allocation of Seats 2. JYH 313'@ 1. =9 ¥cA 4 Hia}
in Upper House T 3
b. Second Schedule 2. Union Territories b, Ted™ aﬂ'{éﬁ 2. ORI Few 3i
and their extent 37T Frer
c. Fourth Schedule 3. Administration' of 5 i’ﬂé 313@ 3 wﬂ aﬁ -
Scheduled Areas
d. Fifth Schedule 4. Deputy Chairman 4 G A A TST T
of Rajya Sabha : e :
Codes : 7z
a b c d iy b : d
A) 2 1 4 3 (A) 2 1 4 13
®B) 1 4 5 2 " ®B) 1 4 3 2
©) 1 2 3 4 ©) 1 2 3 4
(D) 2 4 1 3 o2 4 i 3
’
54, ‘What was the administration of Shivaji called ? 5% Rrarht % wemE w1 o et S A
(A) Central Administration —— (A) HET T
(B) District Administration iﬁ B) e wme
(C) Village Administration  (C) 7 HRITEA
(D) Asth Pradhan (D) 3% T4 .
el
55. Choose the correct sequence of plants found 55. 3OUEUE T m E aga ) '}
" with increasing heights in Uttarakhand. T Ta 1 T gﬁ'a |
(A) Chir, Deodar, Teak, Oak (A) iﬁg, w, T, IS
(B) Teak, Oak, Deodar, Chir , (B) WFIF, s, Yeer, SIS
(C) Deodar, Chir, Teak, Oak (C) T&eR, e, |, CIS|
(D) Teak, Chir, Oak, Deodar (D) |Wil, g, siw, 3AaN
56, Which of the following is not available in 36. ﬁmﬁﬁﬁ # QP UrRLHE
URL? - q
(A) Domain Name (B) File Namg (A) gﬁq Ham (B) ;fﬁjﬂ(“
(©€) [P address (D) Protocol (€) IPYqy (D) B
e
-17-
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60.

84/23
ingrulersheldaReligious 57 e 3 & fopm wreeh % gror R o g
51 Whoamongthefollowmgrue 5 years T 3 o T R T T o1
Assembly at Prayag after every ) 7
(A) Ashoka ®) f
(B) Kanishka ©) T
dhana . :
(C) Harshavar ;
(D) Chandragupta Vikramaditya . (D) =E= fesrmieea
hic 58. Ww&aﬁqﬁm%m,m
g e ionofevery Y s 31 1 i e e 8 2
Transition, the population of‘evel'y ; ? %@3 37 .
increases very fast under which stage M 9T et ] 7
s (@), 2" stage (A) TES SFRAT (B) @A arwRm .
D () Both (B nd (©) (©) Twl e (D) B) 3 ()
3" stage’ ’
5 59. 1857 T = “&f g’ e g
Who had opined that the Revolt of 1857 was . i
a ‘Sepoy Mutiny’ ? 7:;&‘)1 s g 3“{ "
(A) L.E.R. Regj <R
(B) Sir John Lawrence and Seeley (B) & S A AR dRA
(C) T.R.Holmes (€) &. IR, Berd
(D) Sir James Outram (9) [T S 3TI3213{ . N
Match the List - I with List — I and choose 60, L'l -1 5l T - 11 ¥ gAfem ﬁﬁﬂ:ﬂ i
the correct answer using code given below the ?ﬂ%ﬁﬁ & 4= f@m %< Hl ST
lists. IW ﬂﬁ'& l
List-1 List - IT B I -1
a. Punjab 1. Between the rivers a. e fgae® 1. fry T wae
Himalaya Indus and Satly; Ffet & 7ed
b. Kumaun 2. Between the rivers b. TS foaem 2. el o fom
Himalaya Kali and Tista S ¥ e
c. Nepal Himz:}aya" 3. Between the riyers c. YU femrem 3. fore w R
Tista and Dihang ' L 3 e
d. Assam Himalaya 4, pey,, e ol
s e o yers d. W o™ 4. waew @
atluj and Kq) . ; )
Code Afet & 7
s %@
(&) 2. 7o 3 4 a b ¢ d
® 1 2 3 4 A 2 1 3 4
© 1 2 43 B 1 2 3 4
1 4 2 3 © 17124 3
’__/(B)——""_\ ™1 4 2 3 R
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61.

62.

63.

65.

84/23

| g we Ry el

Who among the following is known as the
‘King of Kumaon’ ?

(A) Colonel Goyan

(B) Commissioner Traill

(C) Commissioner Baitten

(D) Commissioner Ramsey

“Malari” in Garhwal is associated with which
culture ?

(A) Copper Hoard Culture

(B) Megalithic Burial ElpaE
(C) Mesolithic Culture (=52
(D) Painted Grey Ware

What is meant by ‘Kolti’ ?
(A) Folk dance

(B) Mask dance

(C) Poem

(D) Widow or Abandoned

The great martyr Chandra Shekhar Azad
stayed with his young team at Nathupur near
Dugadda on the invitation of whom among
the following ? ‘

(A) Pratap Singh (B) Kunwar Singh
(C) Bhawani Singh (D) Nain Singh

Given below are two statements, one labelled
as Assertion (A) and the other labelled as

Reason (R). Answer by using the codes given
below.

Assertion (A) : Urban local bodies

in Uttarakhand include three types of

institutions.

Reason (R) : Srinagar is the lone Municipal

Corporation located in the purely hilly region

of Uttarakhand.

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true, but (R)isnota
correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

61.

|

63.

64.

6S.

- Wﬁmw

ey 7 8 FHS b TS % &9 3§ 53

9 2 ey o a3 *)
T | T RN
T TR B ey (R) gl T 2 kAl

_ % )
P QM )2t g, T O

D

R T 8
) ) T R)
K SEY T R ¢ 3



Eﬁ 84/23

66. Who were the two painters t0 ?rrive, in 66. STEEl % @R | B 9 fsrepm .
“Garhwal Darbar”’ from Shahjahan’s court ? @ F A 7 e

(A) Hiralal and Mangatram (A) BT TE HTH
(B) Shyamdas and Hardas (B) YITHCTH TF &qH
(C) Maularam and Dashwant L©) I 3ﬂ'{ auEd
(D) None of the above (D) 39 | & IS TE
67. Who is known as “The Pilgrim” ? 67. ‘g fufafim” & am | ford ST sman & 2
(A) Fredrick Wilson R (A) el oo
(B) P. Verron | (B b, 3=
(C) A. Ganser (C) U M
(D) None of the above (D) ST U & I3 T&l
68. Read the following statements associated with 68. fegtt T = wie ¥ g=ia T et
Tehri King, Narendra Shah : . T foEm #ifvT
1. Founded Agriculture Bank in 1920. 1. 19208 ?ﬁ( &% 6 g A |
2. Founded “Public Library” in Capital in g ‘ oo iy
1923, 2 gzﬁtmgrﬁ T JEehIer
3. Opened Post Office in Capital Tehri. agenm 1?:
] . TeiYT |é§f| STHER @il
Which of the above statement/statements is/ é%% . |
are true ? 0 0 mﬁaﬁﬁaﬁq—m/ﬁwﬁ%/ﬁ 7
(A) Only 1 (B) Only 1,2 (A) I 1 (B) %dd 1,2
(©) 1,2,3all (D) Only2,3 (©) 1,2,3 9 (D) %ad 2,3
~
69. Statement (A) : Koti Banal style of 69. U (A) : ITTGTE & F T &l |
architecture is used in some hil] regions of
, Uttarakhand. > Ife ST T Sl 1 ST Bt @ |
| Reason (R) : Koti Banal style is earthquake NI (R) : Hife TG JAeft qerrg Ueht
| resistant. _&ﬁ?ﬁ _% |
‘ Two statements are given aboye, Choose the ; :
! correct option from the beloy op the bas; IR FHE I | T & FUAT o 3MUR
| above two statements, = of T =g Ty et ICE| ﬂﬁ'a I
B P A
; W B
5 B) (A)and (R)bothare ¢, g : :
! = a correct clarificatiop o;'rzg), but (R) is not (B) (4) 3T (R) T Tkt &, Tog (R), (A)F

! © A) is correct, but (R) js incorrect
! - Q) (A
| (D) (A) is incorrect, byt R) is correcy ©) ( )-H_Eﬁ %, tﬂ?\[ (R) TTeAd %

e R (D) (A) T &, T (R) TEl 2
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70. During the reign of anarchy which Doti King

71.

conquered Kamadesh and Kedarbhumi first ?

(A) Krachalladeva
(B) Ashok Challa
(C) Ranabahadur
(D) Amar Singh, Thapa

Match the following.
a. Darban Singh Negi 1. Ramon ,
Magéaysay :
b. Govind Ballabh Pant 2. Dronacharya
Award
c. Hansa Manral 3. Victoria Cross
d. DeepJoshi 4. Bharat Ratna
a b ¢ d _
A4 3 2 1 %&@
)1 2 3 4 E@ﬁ%
©2 4 1 3
M3 4 2 1

72. Read the following statements -

Statement 1 : Kali is the longest river of
Kumaun.

Statement 2 : Jauljibi is situated at the
confluence of Kali and Gori,

Which of the above statements is correct ?
(A) Only 1

(B) Only 2

(C) Both 1 and?2

(D) Both 1 and 2 are wrong

70.

71.

V4

{

84/23

(A) TR
(B) 3 el
(C) Tor=RT
(@) 3 fag,
frafafigs =1 gafaa R |

2 @ R IR 1w AR
b. i< Tga 90 2. SR ISR
c. BT TR +3, R wig
d. et 4. A TS

a'b c d |

A4 3 2 1‘

B)1 2 3 4

©2 4 1 3
M3 4 2
et et o o

FE 1 Fe, T ) wey G

P2 : e, el afie gy H @
‘RSWF\Q];;% |

SR T 2 e w2 7
(A) ey

(B)%HF{Z

.(C) l@tza:ﬁ
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73.

74.

75:

76.

/—\

Match the following in List—1 and List— 2 73.
and then choose the right option. & farehed 1 T3 HIfT |
List—1 List—2 et -1 T -2
a. Indian Institute 1. Roorkee a. S0ETA IS 1. TS
of Remote Sensing . 377 Tmre Af
ineering 2. Ranikhet
b. Neh.ru Mountaineering 2. Rani b. ﬁ_&_\ thTﬁ’s'UT B
Institute , .
c. Central Building 3. Dehradun AT .
Research Institute c. dga TarfesT 3. qgUigd
d. Drug Composit 4, Uttarakashi  [lgzslEl oo geum
Research Institute - g% d. g1 HHINE 4. JHTEf
Codes : e weu™
a b ¢ d %e :
a1 2 3 4 a b c d
®4 3 2 1 a1 2 3 4
©3 4 1 2 %2321
. 1 2
3 4
@) 2 1 | ©3 4 2 1
Who was the pioneer of voluntary ‘C % ; ¢ Terad
(Consolidation) in the fvolunioglRand” O e Tt & S TG B
: ey HiT AT ?
(A) Kedar Singh Rawat s
(B) Yuddhvir Singh Rawat ~(A) R fiE Tad
(C) Prahlad Singh Rawat % ﬁa'(g T
(D) Late Rajendra Singh Ra 3 AN
C (D) . Tairg &g 1@
‘Nakdun’ is related to , ..
(A) A type of wild herbs 7. NI 1 T 2 7
(B) Folk song . (A) STt St T N
(C) Folk dance B) e Tt
(D) None of the above © A T
(D) ST # F HIg Tl
Who gave the message of “Dop’t
ahead” to the women ? oy Much 76, Faet i § Rewd wfvened @ aE w0 &0
(A) Bishni Devi f Qo T, T TR 7
(B) Vijay Lakshmi Suman (A) Tomrft <t
(C) Tulsi Devi @) T qee go
(D) Tinchari Mai (C) et ot
() F=dt g [ ——

84/23
T — 1R g - 2 @ gafa Hif sk
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7.

78.

79.

80.

——

Read the following statements :

1. Rudrachand was contemporary of Mughal
Ruler Akbar.

2. Kumaun was shown as a part of Delhi Suba
in Ain-e-Akbari.

3. Khatduva festival is celebrated in the
memory of the victory of Rudrachand.

4. Raika system was the revenue

system of Chand dynasty adopted by
Lakshmanchand.

Choose the right option.

(A) Statements 1, 2 and 3 are correct
(B) Statements 2, 3 and 4 are correct

(C) Statements 1, 2 and 4 are correct

(D) Statements 1, 3 and 4 are correct
Which pair is not correct from following ?
(A) Nanda Devi
(B) Jhilmil Tal
(C) Naina Devi

National Park
Wildlife Sanctuary

Conservation

Himalayan Bird
(D) Kedarnath

Reserve

Wildlife Sanctuary

Who among the following was/were martyred
at Khatima on 1 September 1994 ?

1. Bhagwan Singh Sirola
2. Bhuwan Singh
3. Ravindra Rawat
4. Pratap Singh
(A) Only1,2,3
(C) Only2,3,4

(B) Only1,2,4
(D) All 1,2,3,4

Dr. Petambar Dutt Barthwal is the first one to
be awarded D. Litt. degree in Hindi literature.
He produced his thesis in which language ?
(B) Hindi

(D) Garhwali

(A) English
(C) Kumauni
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R
-'%%%
EAAE

78.

D,

80.

o |
; —u-3rhell § TS Rl Reesh
o e R T g
3. TS 3 H w5 6 e &
X e # T ST R |

4 Yo wonell =Gl B T e 3
grafa ot et AEmome Y sy

o |
el faeheq sl < L |
() F 1,2 T 3T &
(B) FUT 2,39 49 §

O T 1,2 W 49H §

(D) % 1,374 4 8 &

ﬁw%%aﬁﬁaﬁq-mwaﬁﬂﬁ%?

(A) T <t ~ T U

® Fefmam . a=cig
ALY

(C)ﬁ;;%a?%nmq ~ e ol
't e
(D) ATy

EEIC)
A

S H BB 1 Ry 1094 F
L T e Bt

2. [ R

. Y
(A)aﬁﬁl,zj
(?) %2’3’4
?larﬁ'-:ﬁ

(B) *haeT 1,2, 4
(D) Tt 1,2, 3,4

T ey e A
ST T vy we SR
aﬁﬁﬁﬂmmwﬁ
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81. Choose the correct sequence of the Kings of g1, R S YTHHI 6T HE HA T |
(A) YATHIIE — HTRITE — HETaE —

Parmar dynasty.
(A) Shyamshah — Manshah — Mahipatshah — EREiRGRIE
Prithvipatshah .
o (B) HTSITE — YATYIE — WRIY¥IgE —
(B) Manshah — Shyamshah — Mahipaisiiati = : Q%ﬁqﬂ'iﬂ'b'
Prithvipatshah :
(©) Mahipatshah — Manshah — Shyamshah — ElR © TEITEIRE —AFRIE ~ FETHAITG —
Prithvipatshah oR=[0] 125” ONIS
(D) Manshah— Shyamshah—-Prithvipatshah— (D) HTFRITE — TIHIATR —ti%ﬂtﬁmg =
Mahipatshah > wEawg
82. Match List— I with List — II and select the 82. Fet — I el — 1 FAfera HIIT 3R
corrc-act answer by using codes given below H\Fﬂ?ﬁ % = few T g = T g
the lists. ' IW gﬁ-q |
List—1I List—‘II‘ H\;ﬁ_[ ;E-;ﬁ_n
a. Kumaun visit of 1. Nainital a. TGTCHT TIER <1 1. i
Mahatma Gandhi PATS A
b. Struggle for Forest 2. M i )
58 ssagre b, T JAfrbr 2. Tl
Rights .
® EIRCEE]
c. Publication of 3. Tarikhet
‘Samay Vinod’ . T oI 3. TG
d. Establishmentof 4. Tiladi
Uttarakhand Kranti Dal d. IHES Shif~ 4. faemsht
: T AT
Codes : o
&R
a b c¢ d a b ¢ d
A1 2 4 3 A)1 2 4 3
®3 4 21 ®3 4 2 1
3 4 1 2
© | ©3 4 1 2
' f
D)1 4 3 2
/.(_.—)———— @1 4 3 2

-24-



g3, Armange the following events of Uttarakhand
State Movement in ascending order.

1. Establishment of Parvatiya Vikas Parishad.
2. Merger of Kumaun Parishad into Congress.

3. Establishment of Uttarakhand Yuva

Parishad.
4. Establishment of Garhdesh Seva Sangh.
Code :
a1 2 3 4
B2 4 1 3
©4 3 2 1
™3 4 1 2
84. Which one of the following is correctly
matched ?
1. Foundation of — Nainital
Debating Club
2. Foundation of Happy — Almora
Club
3. Publication of — Dehradun
“Garhwali” Magazine
4, First Session of — Kausani
Kumaun Parishad
Code : EE
A) 1,2 () 2,4 At
(C) 3,4 (D) 2,3 o i
85. Correctly match the authors and their texts :
a. Bharat Kavi i. Vastushiromani
b. Sudarshan Shah ii. Fateprakash
¢. Shankar iii. Sabhasar
d. Ratan Kavi iv. Manodaya Kavya
a b c d

@A) ii v 1 i
® iv i i il

— () v i i
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83. Farrave T e Fefefin

et A FATUE 67 H T |
|, wedra TershrE ARG TS | 14
Z_Wqﬂﬁﬂﬁ'ﬂﬁﬁm |14
,_,3_W§mmmw | Q38
4, e BaT Yl <hT TATGT (19399

§Z‘:

(A)iis 23T
B).2:,- Ak
‘©4 3 2 1
D3 4 1 2

g4, Treferiad i w8 AR & 7

1. Teafdn o= < T - S
- A

4, TS IRG HT YU — HIEH!
<IBCHEN
&e:
(A). 1,2 B) 2,4
(€) 3,4 D 2,3

85. WG T TS @ e iR :

a. T g i, e
b. eI wrg i, BT
c. T iii. TR
d. T Hfy iv. AT hcd
a b ¢ d
(A) i gy s o
© v i
(D) i

i VRS

b

eSS



86.

"(A) Barter system

In the society of Uttarakhand what is the

meaning of ‘Satwara Pratha’ ?
ElkE
(B) Important fair of Uttarakhand %%#
R [a]

.. (C) Marriage invitation

88.

89.

87.

90.

(D) Important cuisine

Which one of the following organiz.ations
has decided to develop one village in each.
thirteen districts of Uttarakhand as Sanskrit

Village ?

(A) Uttarakhand Sanskrit University
(B) Uttarakhand Sanskrit Academy

(C) Sampoornanand Sanskrit University

(D) Gurukul Kangri University

At which of the following place Uttarakhand
Judicial and Legal Academy is situated ?

(A) Kotdwara (B) Bhowali
(C) Lansdowne (D) Bageshwar

From which place coins named after the kings

called Shivadutt, Shivapalj .
been obtained ? palit and Haridutt have

(A) Sumadi (B) Ranihat
(C) Almora (D) Purola
Statement (A) : The maximum followers are

of Shaivism in Uttarakhand

Reason (R) : In Shiva M
1s considered as the Maszzcle]f'l lc))lfl‘lia(gg’al;(l)(rghShiva
Two statements are given above, Choose :lt:: .

correct option from th
above two statemems.e below on the basis of

(A) Statement () i
Saten (A) is correct, Reason (R) is

(B) Reason (R) is corr
wrong

(C) Statement (A
St (A) and Reason (R) both are

(D) Neither Statemen
correct

Cct, Statemept (A) is

(A) nor Reason (g j
LR

86.

87.

88.

89.

90.

84/23

TGS < THS H FeaTd o &7 379
w7

(A) TEG T UREiEs ity
(B) ITRIGUS 1 Y@ Al
(C) fearg s

(D) Tq@ WA v

= 3 @ form T w3 Sves %
Seeh (g UG § Ueh-Th HERd 7
Torpfira ot =1 fola fopan @ 2

(A) ITEVE G&hd fovafaamer

.(B) ITEUVE HHha ITehIGH!

(C) WU, W feretferamrera
(D) TeHd HITS! feaferaner

= o @ form wm w STt
IR <fire st sEfRa g ¢
(A) HIER (B) waTett
(C) SHe=—A (D) STIYER

Rreea, Reawfem 31k giea Tme wm
% s for R A WA BT E 2

(A) gaTel (B) THtEre
(C) JreHrgt (D) T

U (A) : IAU@TE H e epf & wais
3YTEH B | :

RO (R) : R T § e R

¥ & HT T HET TR |
SRAFARAWE | T A S
SR W Fefifaa 3 A gl fwe 99 |
(A) FUT (A) TE R, HWO (R) TG B
(B) FUT (R) TE B, HYT (A) e 8

. (C) U (4) 3 T (R) AT T &
(D) T FH (A) Tl 2, F F Q)T E_
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V e

9l Match the following,

Hydro Power Project District

a. Urgam Project 1. Nainital

b. Sonaprayag Project 2. Pithoragarh
c. Surinagaad Project 3. Rudraprayag
d. Kotabag Project 4. Chamoli

a b ¢ d
Al 2 3 4
B4 3 2 1

e
©2 3 4 1 mﬁ.%.

D3 2 1 4

92. To fulfill which one of the following
objectives “Mission Gaura Shakti” was
launched in the year 2021 ?

(A) To strengthen the economic conditions of

women

(B) To strengthen the women security and to

prevent violence against women
(C) To strengthen the political participation of
women

(D) To strengthen the health level of women

93. Choose the correctly matched pair out of the

following :

(A) Dodi Tal —  Pauri Garhwal

(B) Nachiketa Tal —  Chamoli

(C) Naukuchia Tal —  Nainital
~__(D) Dewaria Tal - Champawat

92.

93.

84/23

a b ¢ d
A1 2,3 4
®4 3 2 1
©2 3 4 1
@3 2 1 4
fm @ e T B o ¥ R

Y 2021 ¥ ““firem Tivq wiff”” <R STy
P T e ?

(A) Afgenad i il fRufy = g
A % o

(B) Higenati i guan i guiRnor qun
;‘?Wﬁr@ﬁaﬁﬁmﬁﬁm%

(C) Afgenatt <t T wrfterd Y
I A & fog

(D)ﬂ%maﬁﬁwéawaﬁmm
0 F e

Fraforfiaa % & gt g o s B -
WSRTE - A g
B) AT AT - e

.C) Mgt am - e

(D) Safen A _aﬂﬂaﬁ/B
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i
94. Who among the following said that his Char

Dham pilgrimage trip has been completed
1 Gangadhar Tilak

having seen Lokmanya Ba
four times ?

(A) Jaydutt Joshi

(B) Buddhi Vallabh Pant
(C) Lokratna Pant

(D) Badridutt Pandey

95. Kalyan Paulis associated with which
Non-Government Organisation (NGO) ?
(A) Pan Himalayan Grassroots Development
Foundation
(B) Himalayan Action Research Centre
(C) Social Development for Communities
(D) None of the above -

96. Which of the following statements are true 74
1. The police Patwari system was set up by

94.

96.

84/23

fr= o @ frea w1 a1 T e

T TR foeteh < IR 91 oEF S
F IGq= AT ITeh! IR G I b
S E?

(A) SaEH SR

(B) §fg Teary I
(C) AR Ud

(D) wEfied TS

FT07 uTel Fre TR-atr |ired
(Tfian) & el @ ?

(A) 7 FmTeE e SAAHE RS
) Tamerm e R g

(©) AR STuie Bk BRI

(D) 3T | | IS T

frfifaa § & SH-2 FH T E 7
1. gfre eart SHET I T

G.W. Traill e
2 i ded Ed et g
. G.W. ucceeded Edward G fafew %
2t the Commissioner o Briish Kumaun. - m@ﬁ.gﬂ%aa ﬁﬁ @Wma"
3. ’(I;he period of John Batten as the & I
asortllll?ss:ﬁiner of Kumaun is considered ﬁ"ITIT LR
Kumauﬁ. en period of British rule in 3. U HREAT & &9 i GIH.?Z:I £l
) FRIhTe ferfesT IEA &1 HAS
4. ;:}:E B(a:tten succeeded Thomas Lushingto SIGL
e Commissioner of Kumaun n g AT 21
Select the correct answer from th - 4, S '3;“111? TR & § 7 ZmE
given below : € codes ; o R
Codes : o !
Ny _— A R e @ Y W I B R
(B) 2, 3 and { : ? .
© 1,2and4 4 B
) 1,3 and 4 . (A) 1,2 3R 3 (B) 2,3 34
97.  Choose the correctly magcpe d i © 1,2 3R 4 D) 1,3 3 4
1. Fort of Bairath . 97 g’ﬁf%—ra T
2. Fort of Visar - PithOragarh ’ 1 él‘l‘?m Eﬂﬁ w | ] 5
3, Fort of Manil ~ Joshimath 2 ﬁwmm _ '
4. Fort of Khagmara - I:ashipur 3' 3 1 fehett — s
~ Almora : kil SIS
: TRt =1 fem =
A) l’fa: 3 (8) 2,344 4 T e - 3wl
(c) oY (D) 2ang 3 @) 1,233 ®) 2,334
(C), et 4 @ 2303
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98. Match the following ancient places of 98.
Uttarakhand.
Ancient Name Modern Name
a. Yogishwar 1. Lansdowne
b. Gothala 2. Rudraprayag
c. Kalo Danda 3. Jageshwar
d. Punar 4. Gopeshwar
a b ¢ d
A3 4 1 2
B)1 2 3 4
©4 3 2 1
™3 4 2 1
99. Correctly match the following types of lands :

a. Talaon _ 1. Barren land
b. Kateel. ii. Step land
c.- Upraon iil. Irrigated land <
d. Izraan iv. Rocky land without
steps
a b ¢ d
A) ii 1 iv i
B ii v i i
- cee .0 | 'E
© i i i v E@ :
ssa . . E‘ :
D) i i iv g
100.  Choose the correctly matched pairs out of the ~ 100.
following.
L. Rishikesh -~ Mansa Devi temple
2. Kausani = Anashakti Ashram
3. Joshimath - Layxmi Ashram
A . Champawat — Mugalgarhij
\ district
(B) 2and 4

(D) 3and4

99.

84/23

ArefiRad ITEYS & TR U] @)
gafer AR |
qrei A Ny W
a. IITER 1. e
b. M 2. T
c. Sl B8 3. PV
d T8 4, TOYER
a b ¢ d
A3 4 1 2
B)1 2 3 4
©4 3 2 1
M3 4 2 1
i % Ffiiaa st st gaferd Hif :
a.ﬁ?‘ﬂ% 13’3’('{&{
b ?Tﬁﬁiﬂ; ii. lﬁhéTaTI Q{ﬁ:
c. 3Ya iii. Trfare g
d. I iv. o Hdier
verdiett i
a b c d
(A ii i iv i
B) iii iv i i
WC) i i i v
O) i i v i
Frafefea # & o gafera gm =1 =
Hifv |
1. e - wEn et g
2. wE - aFmfE Jnem
3, WiEE - oAt InEw
4, IHEA - WGl
IAIG
(A) 132 (B) 237N 4
(Q%aaz (D) 3 34

e
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